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brood: to ponder morbidly or persistently  [Collins Dictionary] 
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     This is a normal issue to accompany the special number 39. Problem 3 is an 
escapee from that issue, because the best position turned out to require a white 
bishop. I hope that there are a few other items which will make good solving. 
The lions in 11 move and capture on queen-lines by hopping over any one 
piece to any square beyond. The locusts in 12 move like grasshoppers (hopping 
on queen-lines over one unit to the next square beyond), but have to capture 
that unit, which must consequently be of the opposite colour. They cannot 
move without capturing, and their arrival square must be vacant.  
     For the rest of this year I plan to take a rest from chess problems, but I hope 
to be with you again in 2008. Meanwhile, very best wishes to all readers. 
 
 
      1.                                     2.                                     3. 
 cuuuuuuuuCcuuuuuuuuCcuuuuuuuuC 
 {w1rdRIwd}{Qdwdqdwd}{wiwdwgbd} 
 {dwdwdwdw}{IBHwdwgw}{hwdK)Php} 
 {wdwhwdwd}{wdw4wdwd}{wdw0wdw1} 
 {dpdwHN4w}{drdndpdw}{dwdwdw0p} 
 {wdPdkhwd}{wdNdkdnd}{wdwdwdp0} 
 {dwdp0pdw}{dwdwdwdw}{dwdwdBdw} 
 {wdwdwdwg}{wdw0pGwd}{w0wdwdwd} 
 {dwdwdwdw}{dwdwdwdw}{drdwdwdw} 
 vllllllllVvllllllllVvllllllllV 

      h#2          b) f5=>R        h#2          b) c7=>R        h#2        2 solutions 
 
      4.                                     5.                                     6. 
 cuuuuuuuuCcuuuuuuuuCcuuuuuuuuC 
 {wdwdrdwd}{wdwdwhqd}{wdwdwdwg} 
 {dwdw)wdw}{dwdw0wHw}{dwdw4wdP} 
 {wdw0Pdwd}{rdbdwdpI}{wdwdkdph} 
 {dwdwdwdp}{dwdBdw)w}{dwdwdw0w} 
 {wdNdwiw0}{wdPiwdw0}{wdwdwdw0} 
 {dwdPdbdB}{dwdwdwGr}{dwdpdwdw} 
 {wdwdwdwI}{wdPdwdwg}{wdwdwdwd} 
 {dwdwdwdw}{dwdwdwdw}{dwdwIwdR} 
 vllllllllVvllllllllVvllllllllV 

      h#2½     2 solutions      h#2½  b)Pc4>g4 c) >f3               h#3 *     

        7.                                     8.                                     9. 
  cuuuuuuuuCcuuuuuuuuCcuuuuuuuuC 
  {wdwdbdnd}{wdwdwInd}{wdwdw4wd} 
  {dBgR0PIw}{dwdw4wdw}{dwdndBhK} 
  {wdrdNhPd}{wdpdPdwd}{wdwdwdwd} 
  {dwdrdpdw}{dpdwdwdw}{dwdPdwdw} 
  {wdwdwdwd}{w)wdwdw$}{wdkdw)wd} 
  {dwdwdpdw}{0wiwdwdw}{dwdwdwdw} 
  {wdw)wiwd}{Pdwdw0wd}{wdwdwdwd} 
  {1wdwdwdw}{dwdwdn1w}{dwdwdwdw} 
  vllllllllVvllllllllVvllllllllV 
        h#3        2 solutions         h#3½     2 solutions         h#4       b) Bf7>e6 
 
       10.                                   11.                                   12. 
  cuuuuuuuuCcuuuuuuuuCcuuuuuuuuC 
  {wdwdndwI}{wdwdßdwd}{wdwdwdwd} 
  {dwdwdwdb}{dpdwÂwdw}{dw0wdwdw} 
  {wdwdwhw4}{wdwdn0wd}{wdwdwdwd} 
  {dwdwdrdw}{INdqiw0w}{dwdkdbdÞ} 
  {wdw0wiwd}{wdwdw4Pd}{w)wdp0w0} 
  {dwdw0wdw}{dwdwdPÂw}{dndp)wdw} 
  {w)Pdw0wd}{wdwdwdwÆ}{Þ0w1ndwI} 
  {dwGwdwdw}{dwdwdwdw}{dwdwdwdw} 
  vllllllllVvllllllllVvllllllllV 
                     h#5                     h#2½     2 solutions         h#2½      b)pe4>f3 
                                                       Lions  ß Ã                  Locusts Þ 

 
SOLUTIONS:   
1 a) 1.Sf7 (Sd~?) Sxf7 2.Qe5 S7d6# b) 1.Sg6 (Sf~?) Sxg6 2.Be5 Rf4#           2 a) 1.Kf4 
Qb8 2.Se7 Se6# b) 1.Kd3 Ba6 2.Sf6 Sb2#             3 1.Bxe7 f8B 2.Bf6 Bxd6# & 1.Bxf7 
exf8B 2.Bg6 Bxd6#          4 1…Bg4 2.Rd8 exd8Q 3.hxg4 Qf6# & 1…Se5 2.Rf8 exf8B 
3.dxe5 Bh6#                5 a) 1…Bb8 2.Bc7 c3 3.Ke5 Bxc7# b) 1…Bh1 2.Bg2 Sf5 3.Ke4 
Bxg2# c) 1…Ba2 2.Qb3 Se6 3.Kd5 Bxb3#           6 Set 1…O-O 2.Bf6 h8Q 3.Kf7 
Rxf6# but with Black to play White cannot castle, so 1.Sg8 hxg8R 2.Rg7 Re8 3.Kf6 
Rf1#              7 1.Rxe6 fxg8Q 2.Re1 Qxd5 3.Ke2 Qxf3# & 1.Rxd7 fxe8Q 2.Rxd2 Qxc6 
3.Ke3 Qxf3#            8 1…Re4  2.Rf7 (Rd7?) exf7 3.Qg5 fxg8Q 4.Qd2 Qb3# & 1…Rf4 
2.Rd7 (Rf7?) exd7 3.Qg6 d8Q 4.Qc2 Qd4# Tempo!             9 a) 1.Se6 dxe6 2.Kd5 Bg8 
3.Rf7 exf7 4.Ke6 f8Q# b) 1.Se5 Bc8  2.Sf7 d6 3.Kd5 d7 4.Ke6 d8Q#         10 1.Ke4 b3 
2.e2 Bxh6 3.Rf3 Bf8 4.Ke3 Ba3 5.Be4 Bc1#            11 1…Lxe6 2.La7 Le3 3.Lf2 Le2# 
& 1…Lxf4 2.Lc3 Lc7 3.Lc8 Lb8# Lion move concatenation. The BR and BS stop 
cooks.              12 a) 1…Lxh4-h3 2.Be6 exf4 3.Sbd4 Lxf5-d7# b) 1…Lxb2-c2 2.Sc5 b5 
3.Be4 Lxc5-c6# Unpin>unpin> pin>battery, a typical locust effect, but here the mating 
moves also pin, which is more unusual, and quite difficult to set without double-check 
cooks. Thus in a) 3.S~? Lxf5-d7++? 4.Kd4! and in b) 3.B~? Lxc5-c6++? 4.Ke4!   


